EARAROBREBRT —5 XN—ZXBISH—F

20224F8834H () 8EIPTIRI6H

U L0 5 ER C4 SR

BN R

[AE%] 15 :450,000 " ~ 27&:126,000 W  3%&:95,000 "  47&:63,000M  53&:31,000H

B RS RS R HE B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
RYILS 4 3 | LUAKEE 1:01.1 3-3 36.6| — 2 468 |ISHA JLEE)
1EY 3| 7b—YNox 54.0 - ) | ¥T5T =EIAT @
R:ZAIU—=rbe—0O— BIARXA—F+—R EvIUy RI7—LA
o~ — 8 3 | HHEth 1:01.3 2-2 37.0] - 3 466 | MEIEFD (Jbisi&)
2188 VeI 54.0 (3/4) (-4) RS .
RixAIZT7—R B:F—HVF0— EEZIY R
. \EFHELES :01. - . - INEFE (biEiE)
3177 | 7HIVAREDT 3 é4.0 1(10/12)4 " -3 1 (4+36(; Feereth =
R:ZRIAVL—Y B:SvyyaAb—LA B %5
— L RO— B4 | BRNRH 1:01.5 5-4 36.7| - 4 | 440 |LUEFIR (LiEE)
4 4| Z7—LO-b 56.0 (3/4) 4y | (B) AEk
RiFVIARZN B:F3avIATL7— e s
= BEXK :02. - . - MEXE (tiEs)
5 1| ¥ARILAF—05 ®4ES ! (042) 3 6 -9 6 fff) AIES =
R:ZAJU—=rbe—0O— H:OREFSS uiste]
== 8 4 | RTHEH 1:02.5 6-6 7.4 — 8 300 | BKEXE) (JbiEiE)
6 6| BH=Y 54.0 ) o |_@® FFTU>
RiA—yYvVT)I— BVEVAIO— ARAIWT7—L
—~ == it 6 | O2E 1:03.0 4-5 383 — 7 | 478 |RERL (658
7 2 | L—=V7ILTER 54.0 212 () |FIBIEER -
RIFVIARZS B: 74U F—U— - Iv I\ - T7—LBRR
EES - - S BEE— (L)
5|5 | P—REX 6 IRD (i) P& e
RIN—EVIv— B:eAILEX BETRIS
@ 11— —BBIEfI
13—7+—
20—7F—
3J0—7F— |7.8,3,2,4,6,1
43— — 7.8,3,4,2,(1,6)
o ILRE
B B 3 2304 JA R 3-8 120 B E 3-8 2604 3EE 3-7-8 130
7B B 3 100/ 3-7 120 ==} 3-8 530 3EH 3-8-7 780M
8 100/ 7-8 110H
7 1004

ABIC OV TRUTEREERRODDZE. THRIIZEL.




